Efficiency vs hit

1.2

efficiency vs hits

0.95

10 20 30

4 0

70 80

TP hits

[—=— DQM_V000I_R0000 T__Global_mKFit_NOeval
—— DQM_V0001~R000000001_Global _mkFit_NObatch
—— DQM_V0001~R000000001_Global

— —— DQM_V0001~R000000001 _Global _mKkFit_batch32

[Efficienc] —— DM v0001_R000000001 _Global

mkFit_batch
mkFit_batch64

=

layers

0.09]
0.08|
0.07

iciency vs

i
=)
o
>

A2 AR LALLS LAY LAEAS LLLLN LAY LR LU LA

£0.

0 5 10 15 20

25

TP layers

Efficiency vs pixel layer

S :
o ~of me :
©
4
[ .
0 1 2 3 4 5 6 7 8

TP pixel layers

Efficiency vs 3D layer

1.

o
)

efficiency vs 3D layers
o
(o))

o
>

0 2 4 6 8 10 12 14 16 18 20

TP 3D layers




	Contents
	Page 1


